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General comments — Markers are advised that they should make every possible attempt to
look beyond the poor handwriting and poor expression which can be expected to characterise
many of the responses at this level. If the intention of the candidate is obvious to the Marker,
credit should be awarded, either full or partial. Where the term ‘partial credit’ is used in the
following marking instructions, it simply means half-marks. The term ‘direct lift’ refers to the
verbatim lifting of wording provided in the source. This should not be penalised at this level,
even if a candidate has lifted a quote in the first person. Likewise, one word answers should
not per se be penalised. If a more extended response is necessary, the answer will be self-
penalising.

Allocation of marks for evaluating questions
EV4 3 points for 4 marks
2 points for 2 marks

1 point for 1 mark

But one out of three answers may be partially correct, and may be allocated 1 mark, to give 2
points for 2 marks plus 1 mark for a total of 3 marks.

One mark + one pc = (1 mark)
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Question 1
(a) Room to run around; pigs enjoy digging; pigs get bad-tempered in pen

1 correct = 1 mark, 2 correct = 2 marks, 3 correct = 4 marks. No p.c EV 4
(b) It's easier to control pests

Customers get cheaper food 2+2 KU 4
Question 2
(a) FOR - not a native species (not Scottish); OR damaging woodland EV 2

AGAINST — They were born there; they attract tourists EV 2
(b) Ben Lomond; Loch Ness 2+2 KU 4
Question 3
(a) 1980 2011

Derelict cinema Flats and restaurant

Windows and doors barred and New doors and windows

bolted

Walls defaced Walls cleaned up

Weeds on roof and balcony Roof cleared and balcony has

umbrellas

Only steps at entrance Disabled access

Any three, mark as 1(a) EV 4
(b) More people watch films on DVD

You can watch films on a computer 2+2 KU 4
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Question 4

(a) Other countries can make things more cheaply
(b) Make new products
(© It is a change from manufacturing to service industry
(d) Coal mining
Question 5
(a) There used to be many yards, now only two
Many ships were built, now it is one or two a year
Some closed yards have been redeveloped for housing
Any two 2x2
(b) There are lots of skilled workers available
Government grants attract new companies 2+2
Question 6
(a) increased; biggest; 2003; 2006 4x1
(b) Local shops will not sell as much as they did
House prices will fall as people move away 2+2
Question 7
(a) 0] to keep buildings in safe/good (or both) condition
(i)  few people with the right skills/no training courses
(b) Better chance of getting a good job

Many jobs require qualifications 2+2
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Question 8

(a) Polish; more; few; Arabic 4x1 EV 4
(b) Chicken tikka masala is one of our favourite meals

Councils print their forms in several languages 2+2 KU 4
Question 9
(a) False; true; false; true 4x1 EV 4
(b) Other attractions — shopping, television, sports events: less social

pressure to attend; fewer believers: even some believers do not see
relevance of organised religion: people find services boring.

2x2 One or two word answers could earn p.c KU 4
Question 10
(a) False; false; false; true 4x1 EV 4
(b) Our beaches must be kept clean to meet European Standards

EU money helps to improve roads and bridges in some parts of

Scotland 2+2 KU 4

[END OF MARKING INSTRUCTIONS]
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